COCHIN PORT TRUST

www.tenderwizard.com/CPT



Tender No: T6/T-1983/2023-C Date: 01.03.2023- (PRICE BID)

Name of Wok:"Repairing & Painting of FSSAI office, Bureau of Immigration office and Marine & Moring crew sections at Marine building"

	SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT									
	Please Enter the Contractor									
Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words			
A	A Part A. FSSAI & Bureau of Immigration offices									
1	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead including cost of all labour, tools, scaffolding etc. complete as per detailed specifications and directions of the Engineer-in-charge	210.00	One Square Metre	53.00	Rupees Fifty Three Only	11130.00	Rupees Eleven Thousand One Hundred Thirty Only			
	Plastering wih cement mortar 1:4 (1 cement: 4 fine sand) 12 mm thick including finishing, curing, all labour, materials, scaffolding, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-charge.	210.00	One Square Metre	375.30	Rupees Three Hundred Seventy Five and Thirty Paise Only	78813.00	Rupees Seventy Eight Thousand Eight Hundred Thirteen Only			

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches, all labour, tools, scaffolding etc. complete as directed by the Engineer-incharge		One Square Metre	24.80	Rupees Twenty Four and Eighty Paise Only	12896.00	Rupees Twelve Thousand Eight Hundred Ninety Six Only
	Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface including cost of all labour, materials, tools, scaffolding etc. complete as per detailed specifications and directions of the Engineer-in-charge.	720.00	One Square Metre	81.54	Rupees Eighty One and Fifty Four Paise Only	58708.80	Rupees Fifty Eight Thousand Seven Hundred Eight and Eighty Paise Only
	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour. Two coats including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of Engineer-in-charge.		One Square Metre	145.15	Rupees One Hundred Forty Five and Fifteen Paise Only	79832.50	Rupees Seventy Nine Thousand Eight Hundred Thirty Two and Fifty Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
	Finishing walls with Acrylic Smooth exterior paint of required shade on Old work (Two or more coat applied @ 1.67 ltr/ 10 sqm) on existing cement paint surface including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of	170.00	One Square Metre	135.77	Rupees One Hundred Thirty Five and Seventy Seven Paise Only	23080.90	Rupees Twenty Three Thousand Eighty and Ninety Paise Only
7	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: One coat on old work including cost of all labour, materials, scaffolding, tools, etc. complete as per detailed specifications and directions of Engineer-in-Charge.	50.00	One Square Metre	108.66	Rupees One Hundred Eight and Sixty Six Paise Only	5433.00	Rupees Five Thousand Four Hundred Thirty Three Only
В	Part. B. Marine Crew section						
	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches, all labour, tools, scaffolding etc. complete as directed by the Engineer-incharge	390.00	One Square Metre	24.80	Rupees Twenty Four and Eighty Paise Only	9672.00	Rupees Nine Thousand Six Hundred Seventy Two Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	-	Amount (Rs) in figures	Amount (Rs) in words
2	Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface including cost of all labour, materials, tools, scaffolding etc. complete as per detailed specifications and directions of the Engineer-in-charge.		One Square Metre	81.54	Rupees Eighty One and Fifty Four Paise Only	31800.60	Rupees Thirty One Thousand Eight Hundred and Sixty Paise Only
3	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour. Two coats including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of Engineer-in-charge.		One Square Metre	145.15	Rupees One Hundred Forty Five and Fifteen Paise Only	31207.25	Rupees Thirty One Thousand Two Hundred Seven and Twenty Five Paise Only
4	Finishing walls with Acrylic Smooth exterior paint of required shade on Old work (Two or more coat applied @ 1.67 ltr/ 10 sqm) on existing cement paint surface including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of the Engineer-in-charge.	280.00	One Square Metre	135.77	Rupees One Hundred Thirty Five and Seventy Seven Paise Only	38015.60	Rupees Thirty Eight Thousand Fifteen and Sixty Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	_	Amount (Rs) in figures	Amount (Rs) in words
5	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: One coat on old work including cost of all labour, materials, scaffolding, tools, etc. complete as per detailed specifications and directions of Engineer-in-Charge.	50.00	One Square Metre	108.66	Rupees One Hundred Eight and Sixty Six Paise Only	5433.00	Rupees Five Thousand Four Hundred Thirty Three Only
C	Part.C.Mooring section						
	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches, all labour, tools, scaffolding etc. complete as directed by the Engineer-incharge	700.00	One Square Metre	24.80	Rupees Twenty Four and Eighty Paise Only	17360.00	Rupees Seventeen Thousand Three Hundred Sixty Only
2	Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface including cost of all labour, materials, tools, scaffolding etc. complete as per detailed specifications and directions of the Engineer-in-charge.	700.00	One Square Metre	81.54	Rupees Eighty One and Fifty Four Paise Only	57078.00	Rupees Fifty Seven Thousand Seventy Eight Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	-	Amount (Rs) in figures	Amount (Rs) in words
	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour. Two coats including cost of all labour, materials, tools etc. complete as per detailed specifications and directions of Engineer-in-charge.	700.00	One Square Metre	145.15	Rupees One Hundred Forty Five and Fifteen Paise Only	101605.00	Rupees One Lakh One Thousand Six Hundred Five Only
	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: One coat on old work including cost of all labour, materials, scaffolding, tools, etc. complete as per detailed specifications and directions of Engineer-in-Charge.	100.00	One Square Metre	108.66	Rupees One Hundred Eight and Sixty Six Paise Only	10866.00	Rupees Ten Thousand Eight Hundred Sixty Six Only
	Total					572931.65	Rupees Five Lakh Seventy Two Thousand Nine Hundred Thirty One and Sixty Five Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	_	Amount (Rs) in figures	Amount (Rs) in words	
		BIDD	QUOTING AI	REA				
!				Departeme ntal Estimated amount	Percentage quoted above/ below the Departmental Amount		Above/ Below	
Perc	Percentage quoted above/ below the departmental amount shown in the above schedule				In Figures	In Words		
Notes: 1. The quotationer shall quote either plus or minus sign (eg: +5 or -5) and in figures and words 2. Only two decimal digits shall be accepted 3. quotationers shall also quote Above/ Below in words themselves in the last column. 4. In case of discepancy in words and figures the quoted figure in word will prevail								
,	" This is a Electronic Submission No Need of Signature"							